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HOW DOES THE CIVFORS MODEL WORK

Mini Overview

Historical data is arrayed in time series format along the model dimensions

Rates for each historical time series are calculated e.g., retirement rates = total number of retirements within a cell divided by the strength

Weights and other model parameters are adjusted/self-regulated according to routines that are built into the model (includes small cell size controls) 

The inventory is aged

The rates are applied to first quarter of inventory

Baseline projections are created

Other model constraints are applied such as – the rates that will be used for projection years if different from history

If it is a Goal run (designated by target symbols in the system) optimization routines are executed using the 7-year horizon formulation that forces adjustments to be made in optimized elements depending on the life cycle of personnel behaviors 

If it is a NO Goal run (designated by a slash through the target symbols in the system) the 

    Projections are based on historical trends/rates applied to inventory to generate a baseline view

Final projections are generated

THE COMMON SENSE CHECKS - CIVFORS

Step 1.  NO GOAL PROJECTIONS

Check – Look at projected strength vs history and check reasonableness of projections vs assumptions

Step 2.  NO GOAL vs GOAL PROJECTIONS vs TARGETS

Check  – Look at projected NO GOAL vs GOAL projections – generally the NO GOAL projected strength will be in line with NO GOAL historical strength – the GOAL will wrap around the targets because that is what the linear programs are trying to achieve – the closer this wrap the better – AT NO TIME SHOULD THE PROJECTED GOAL STRENGTH BE DEVIATING WAY AWAY FROM THE TARGET – THAT MEANS THE OPTIMIZATION IS NOT WORKING FOR SOME REASON?      

Step 3 - GOAL PROJECTIONS 

Check – Projected vs Actualized

By comparing projection alternative with history ending FY 99 vs the other with history ending FY 01 we can perform common sense checks and also understand the basis for projections a lot better and therefore use them much more intelligently.  Hence, in this comparison projection quarters are Dec 99, Mar 00, Jun 00, Sep 00, Dec 01, Mar 01, Jun 01, Sep 01. Since these projections are now history we can compare what was projected in 99 for 8 quarters forward to what actualized.   To do this you must understand some basics.

Projected strength is the result of projected accessions and losses and the targets against which the projections were optimized. 

Accuracy is defined in terms of what is projected versus actualized and it depends on the following:

a. If losses were projected accurately that means they should closely match what actualized (within .5% in aggregate 4 quarters out).  

b. If the targets were accurate that means they were the same as the actual targets or the actualized strength.

c. If accessions were projected accurately that means the Army actually hired the projected number of accessions as per the model. So accuracy of the accession  projections is really a function of Army’s hiring behavior.

PROJECTION OUTCOMES

Check 1 – What was the projected strength versus the actualized strength 8 quarters out?

Answer: Should be within .5% - 1% -  4 quarters out depending on population being examined

What if it was greater –What may be the causes: targets were different OR inaccurate loss projections OR Army’s actual accessions were way over or under the projected accessions  

Check 2 - What was the target against which projections were run versus the targets that actualized

Answer: The target should be the same i.e., as known when history ended in FY 99.

What if the targets were NOT the same – to the extent that the targets were off from what actualized the projected strength will vary in accuracy.  If the Army were following the accession numbers and hiring accordingly they will have been hiring to inaccurate levels because of the different targets. The projected losses vs actuals should still be OK.

Please note: In special run scenarios the actual targets used in the projections are sometimes not reflected on the target line displayed in the system – this is a temporary problem – new version will reflect the actual targets.  To compensate for this please use the historical actual strength as the target checks. 

Check 3 -  What were the projected losses vs actuals?

Answer -  You have to examine voluntary separations, retirements, and invol seps separately. It could be that the projected vol seps were Ok but the retirement projections were off .  Also it could be that in the eaches they were off  but losses in the aggregate were OK. 

If the projected vs actuals at the eaches were off (as a general rule more than 3% - depending on population)  then use the roll up losses if they are within 3%)

If the total losses were off the use the eaches if within 3%

If the total & the eaches are both off by more than 3% then contact Engin for an eval.

Check 4 – What are the projected accessions vs actuals?

Answer – it all depends on the checks 1 through 3 above – if the loss projections as whole are OK, if the projected targets vs actuals are reasonably close, and projected vs actual strength are within .5% - 1% of actuals then you are good to go – use the projected accessions for your planning

DETAILED INSTRUCTIONS

Using CIVFORS, run the following projections, in sequence, for your population of interest (MACOM, career program, etc.).  Be prepared to discuss your findings. 

Step 1: Check Projections/Actuals 

Examine the deviation of the projections in CIVFORS for your population of interest (as a rule, CIVFORS projections will be within .5 to 1 percent of actuals the first year out).

· Scenarios:  Use history ending 99 and history ending 01, steady state (170K) with 15% increase in retirement rates for both.

· Data Types:  Strength.

· Dimensions, Dimension Values:  (select as appropriate for your population). 

· Once you have the results:  (1) does history match? (history ends Sep 1999); (2) how far off are the projections – compare projections to actuals for the first year (projections begin with the Dec quarter FY00 – which line is projected and which is actual?).

· What if the projections are off – more than 1% deviation?  Why would that happen?  If so, you need to think about using this data to plan accession requirements.

Step 2:  Check Targets

Compare targets for your population of interest.

· Scenarios:  Use history ending 99 and history ending 01, steady state (170K) with 15% increase in retirement rates for both.

· Data Types:  Targets and Strength.

· Dimensions, Dimension Values:  (select as appropriate for your population).

· Are your targets the same, or close?  They should be.  If not, why not (think about where targets come from, other outside causes that might impact your population)?  

Step 3:  Projections and Targets

How well does your projected FY01 strength wrap itself around the FY01 targets for your population of interest?

· You should graph the lines so you can see if the projections are seeking the targets.

· For this step, you can use the same run as in step 2, but focus on (graph) FY01 lines only.

· Please note: If the data dimensions you are seeking are dimensions that have not been optimized then skip comparison of  projections against targets for the data dimensions

Step 4:  Accession Requirements

Does your population of interest have accession requirements in excess of what you would have if history repeated itself i.e., no goal vs goal accessions

· Scenarios:  Use history ending 01, steady state with (170K) 15% increase in retirement rates.  Also select the No Goal scenario for FY01 for comparison – this will show you what will happen if history repeats itself (i.e., you don’t do anything differently).

· Data Types:  Accessions (only).

· Dimensions, Dimension Values:  (select as appropriate for your population).

· Look at the difference between the no goal and goal lines – use the statistics menu or the spreadsheet to calculate the actual numbers difference between the two, covering at least a one year period.

GLOSSARY OF CIVFORS TERMS

PROJECTION: estimated numbers for each quarter 7 years out; each sequential projection quarter assumes the numbers projected for the previous quarter happened. 

OPTIMIZATION:  minimization of deviations from the target – set of linear programs that are sequentially executed to minimize the numbers need to meet the target e.g. minimum number of new hires needed, minimum number of promotions   

NOGOAL projection: if history were to repeat what would the projections be

GOAL Projection: if there is a target what would be the needed projections

TARGET: designated numbers that need to be achieved e.g., SAMAS or assumed entries by users
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